fmmm AT B S AN EX

R REETREERGAEEEFARNERRETRE--BR: S-02 ((RRIEE 2F->2F)

P015-02-#2/8: 2F, #&X5%: W15A, fu&: P015-02 [D:+33,3:+350] , &£ (635.0)=635.00 cm, 4&:400.0 cm

#3 EEFH(E1HE) BB R E (B X)[— MR- BB 1400+ £]54=454.00 145.28
‘ F#= (Int((635-5-5)/20)+1)/100= 32
BEEFER(E148)= 454.00 X #]32/100= 145.28 M

#3 AP (E14E) AT (B %)= 635+[#5 5] Int(635/(8*100))*54+ [ #-Ld] 120.53
_ O[3 []]2*37+[ 98 B2 f47 432 48 A #-Ld]37*2= 709.00

FZ#= [Int((400-5-5-[F I ¥2HRR]70.00)/20)+1)/100= 17 X
KT8 R (E148)= 709.00*[3X #]17/100= 120.53 M

#3 ‘ HEEAH(58248) BB RE(EX)[— 8- EE1400+[1#]54=454.00 145.28

FH= Int((635-5-5)/20)+1)/100= 32
B H# R (E248)= 454.00*[ 32 £]:32/100= 145.28 M

#3 KF i (5E248) KFERE(EX)= 635+[44E]Int(635/(8*100))*54+[ 47 #-Ld] 120.53
—— O*[WA [E1]2*37+[58 R 7 4E #8 £ B-Ld]37*2= 709.00

X 8= [Int((400-5-5-[F 9 #RARH]70.00)/20)+1]/100= 17 X
K EF# R (5E240)= 709.00* [ #]17/100= 120.53 M

#5 B O
1 8: W 1 [ #58]((160+100%*2)+(190+100%2))*2*[{2]2*[]2/100+[ £ FB #58]100*[ 8 £ 14*[1£]2*[%]1/100= 68.00 M
18 BB O-1 [[U32458](((190+200)*2+(160+200)*2)+[ £ FE 44 58] 100*[ T £&14)* [ i#]2*2/100= 87.20 M
LA E/NE=155.20 M
#3 T1ERR:
K EHEE: Int(635.00/150)= 4
FEHEE: Int(400.00/150)= 2
TEMBE:((15-3*2)+10*2) Kk FHEE 4 [ EE HE 2= 2.32 M2
EARET &
KEX:1
INER1ARIES:(B11:70cm)=(L)635.00*(H)(400-70)*2/10000=41.91 M2
Bl BB E BRI 41.91 M2
P9 &5 B O & k0 BR:
1. B(W 1):160*190*2[f8]]/10000=6.08
$4:(160+190)*2*15/10000=1.05
P9 &5 B O &R ki F0BR /N ET: 6.08 M2
FIEE B O B EE /5T 1.05 M2
B B 5 O AR BR:
1. B #1533 A -314&:(400*190)*2/10000=15.20
$4%:(400+190)*2*15/10000=1.77
B B O &M IR/ 15.20 M2
BEHBEOHER RN 1.77 M2
s BRR/NET: 41.91-[FIE #116.08-[ B B3 58 O #1]15.20+[FI & $48]1.05+[ B M B O 48]1.77- [l E1 52 401]0.00=23.45 M2
RCEH&:
KE&:A
INER1HRIEE:(B11)=(L)635.00*(H):(400-70)*(t)15/1000000=3.143 M3
LA EEEERC/MET: 3.143 M3
FIE B ARCHIK:
1.8 (W 1):160%190*15/1000000=0.456
P92 B O RCIHIBR/NET: 0.456 M2
B HB3 ORCHIBR:
1. B BB 0:400%190*15/1000000=1.140
BB ORCHIBR/ET: 1.140 M3
RC/M&t: 3.143-[F9 & B ORC]0.456-[ B 1 B ORC]1.140= 1.547 M3
w5 B AE RN R oo
SR /NET(MCBE O L B H1BR ) (& B8 O Lk 451:0.4189)
#3=533.94 M*(1-0.4189)=310.27 M (310.27 M*0.560/1000= 0.1738 T)
*B0 O B2 A PB4 R A 2B o0 /N 5T - (AS 2B 20 S 24 $0 BR B O LE45i):
#5=155.20 M (155.20*1.560/1000= 0.2421 T)
A DEN(EEH+EEA) = 04159 T
HERR/NET = 23.45 M2
SR /NET = 1.547 M3
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